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—4 = Azr(z — 2) + B(x — 2) + Cz”. Substituting 0 for x gives —4 = —2B <« B = 2. Substituting 2 for x gives

—4=4C <« C = —1. Equating coefficients of =, we get 0 = A + €, so A = 1. Thus,
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3r—4=A(x+2)+ B(xr—3). Takingr =3 andxr = —2, weget5 =54 < A=1land-10=-5B & B=2,
so
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get bax® +3x — 2 = Azx(x +2) + B(x +2) + Cxz® Set z = —2 to get C = 3, and take
x = 0to get B = —1_Equating the coefficients of z° gives 5 = A +C = A =2 So
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42. letu = Jz=. Thenz = v, dxr = 3u’du =

3u? du ! 3 - 1 X
jl: ]+‘/_ f Tu =/ (3u—3+r)du=[§u —3u+3In(1+u)], =3(In2— 3).
46. Letu = v/1+ Vz, sothatu® = 1 + vz, = = (u® —1)?, and dz = 2(x® — 1) - 2udu = 4u(u® — 1) du. Then
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- _u—l—1+u—1 = 4=A(u—1)+B(u+1). Setting u = 1 gives 4 = 2B, so B = 2_ Setting u = —1 gives

4=—-24,s0 A =—2. Thus,
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1. Let u = sin x, so that du = cos x dx. Theufcuss:(l+sin2:r)dx=f(1+u2}a'u=u+%u3+C'=sin.r+%sin3:c+C.
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14, Let u = 1 + =*, so that du = 2= dz. Then
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Z(2e™) dt 5 du 1 . _
dt =f—;+(€2t)2 =/12+u2 =%tan u—+C =%tan I(EZt}+C‘.

18. Let u = e, du = 2™ dt. Then/
1_|_ 4t

22. Let u = 1 + (Inx)?, so that du =

ﬁm:lf\/_ (2\/_)+c V1+ (Inz)® +C.
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M. Letu=48dv=tan’6do = [:secgﬂ'— l)dﬂ = du=dfandv =tan# — 6. So

[6tan®6df = 6(tand —6) — [(tanf — 6)df = Gtand — 6" — In|sech| + 26" + C

=6tand — 16% —In|secd| +C
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